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LGk MXETH & (10°m°/4E) MXETH & (10°L/4E) mXETH & (10°L/4F)
1 |FHET 962,774,104| KB 186,596 5 11,741,445
2 | EFBRER REFET 390,908,735 AT 95,801 | KHET T 4,693,888
3 |Ba4 iR 270,459,676] 1 Fr i 68,308t R E AL I FF 4,263,653
4 AT 52,196,900| T & F &R LU/ PRET 24,290 F &= H AR LU/ P ET 3,626,422
5 | LA 21,014,830 KB TH 17,553 BRIl 1,108,700
6 |/hEET 13,341,786 AL R Z AR #F 16,585 K h 528,827
7 |2 AETH 5,485,730) 8k LLTH 16,110|mE L A EB)I £ 4+ 453,783
8 |fRET 4,512,340)|E9 4 4R T 14,955 :REATH 395,560
9 |#%mH 4,305,531 LKA ERE = AT 12,344 FRFABEBHL) | ET 245,172
10 | E&H 4232 2412 AKTH 10,572|A R 139,250
11 |8kl 4,199,975{R 7870| R E%H 65,678
12 | LK ANER SR A ET 3,926,842 L {RAVER E dmET 6,872| EATH 62,602
13 | 3,816,389 HEATH 6,772{EA T 54,065
14 | FEAIBERL) I BT 3,047,453| L FAVER R EFET 4,993 FRfEITh 52,136
15 |FHH 2,923349| R EFHH 3,368| B~ 4R 29,452
16 |FREAERT SRR HT 1,861,863] 3 % 27 I 5% BT 2,867) 4L 4% A ER1EN4X FH BT 23,763
17 |KRETTH 1,462,581 L ETH 2,234| 8RB TH 23,101
18 |HEF ER SR ET 1,129,242 TR ARERFL)I| ET 1,955 T 13 A1 &R Be] = BT 13,726
19 [HEAH 931,153|8R A 1,917 & A BR & A FSHT 11,488
20 |db4& A EBfEN1K HH ET 86184815 A h 1,873 LR AR ER E dmET 11,200
21 | EfRARER E dmET 769,518 Rt A AR L4+ 1,556)/V e T 10,241
22 |RE%H 617,721 T AR ERBAT &5 41 1,478iE R T 9,263
23 |#mEAT 427511 | R 1,016 |3iE%} 2 I S5 BT 8,674
24 | LRASERRE E w4t 424231/ eETH 988| R = AR A = BT 8,365
25 {E#H 400,229t 1 A EB 11X EHET 975 {3 A8 &R B 5 44 8,346
26 &R 224,564| L {7 AR AR R Hdm AT 822| LFARER = H At 8,222
27 | EfRARERER SHET 198,854] LR ABERER SHT 404) -tz A EBER iR BT 8,166
28 | EKRERIS AT 177,868k 1& A EREE H iR BT 382| FRABERREERT 6,696
29 | FEMEEER 81,969 T = FH EBEF IR R AT 378| FRABERKEERT 6,664
30 |[AtREFBEHR 50,178| FHATH 215| _E R ARER R EF AT 6,663
31 |ER™ 48,796 LRABER = A4+ 215 6,573
32 | EEFHAEE LA 41 523| FEHEBAREER 189| BB AR L FZ 4 6,435
33 | FRAEBAH 27,976 m{E A BB 4L A FEHT 173| LK NEBERET 4,294
34 |dbik A EBER IR ET 27,683 K S ER A HT 153 LR IR AR E b AT 4,088
35 | FRARER S FRET 23,91 7| TR ANER = R ET 143\ FRIBEBBARH 2,870
36 | T {RARERBATE AF 22,143| AR EEBILFZ AT 129| P& HEAR S F 41 2,824
37 |FREHERE £ RHET 15,762 T {3 B &R F~ g BT 82|fH & 2519
38 |FfE AERIILAF 13,281 £ 7K A AR & 4 BT 76 FHAT 2,221
39 | FRAER TIERT 13,258 @ & M| FTEHBERERF 2,162
40 |RIEERBRIER 12,605) £ K AER/M I FF 69| T {RABEB= FRET 2,007
41 | EFEBBEET 11,892 FRAMBERE AFT 59|iREH AR = £ RET 1,986
42 | REEBAEHET 6,541 | LFAIBER R IIFF 36]-E K PER/N I FF 1,757
43 | T {RABEB R RE ET 6,280| F{RABEB K EEFT 32] EAFARER 11 ¢ 1,672
44 |dttk A EBILFLET 4,243 KB BB L HART 30 S AR _EAAET 1,430
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LGk MXETH & (10°m°/4E) MXETH & (10°L/4E) mXETH & (10°L/4F)
45 |KEEBREA S ET 4,180 N FIBEBRAEFT 30] LK AR B A BT 1,163
46 |FTEHEBASTESR 3,666)#zHENE L R AT 25] E{FARER AR S ET 1,047
47 | L= FHE /N HEET 3,523t &£ A BB L FET 15| A S B A A & BT 447
48 | EKAEB/DIIF 3,350| A & AR EI A & BT 14| KRB BKRES 444
49 | RS BB LIRET 3350t R EE/DAFT 14|46 42 A B8 3L T BT 407
50 |mI{EAER/NEET 3,343k A ERma AT ML REZ/NEH 370
51 |mI{E AR AT 3,189 | R E BBAREH 10| EREEEREH B 44 330
52 | FE3EBLL/ BT 2,956 A5 EBAFEHT oma{E A BN m 4 A 225
53 |matk A BBk AFEET 2,849| L& FHE S LT 5| S AR AEHT 222
54 [dbREERIIIFE 2,617 REEERRA B A1 | EEHEBE L+ 78
55 |EREHERE AT 2,509)4t & = R it FH AT ofdt &= = EB;th FHET 0
56 [dtZ=E &Rt FEET 2018 F 8 O| FRMEE EHF 0
57 |ERIAEEEREA B AT 1,709 FRARERE AT O| R A EEERRRAERT 0
58 |EREAEEERILIFLHT 1,6 10| BR B EE EB R AE olaik 0
59 |/NEEBREAOET 1,539/ R ERFH A H ] EZ:5415 0
60 | FEHEE IR 1,121 A BB/ BT O R AR LA 0
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